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Fifteenth International Linguistics Olympiad

Dublin (Ireland), 31 July — 4 August 2017

Individual Contest Solutions

Problem 1. The number system is duodecimal.
e gwiniy — 1,ba — 2, tat — 3, naas — 4, tugin — 5, tilmin — 6, tdama — 7, rwiit — &
e faa-a=12—a (1 < a < 3): faatat — 9, faaba — 10, faagwiniy — 11
e kari — 12

o bakiirii bi-y = - 12 (2 < v < 8), ba-kiirii faa-bi-y = (12— ) - 12 (1 < v < 3)
(the tone in the first syllable of v becomes middle)

, )] gwegwmip (6 =1) | _
oﬁna{vé 5(2<06<11) }—ﬁ+5(ﬁ_k.12)

Answers:
(a) 1.52+3+4=32
2. 3 =81
3. 7 +9+1=59
4. 91 =9
5. 82 4+24+5="T1
6. 2° =32
7. 9244+ 3 =88
8. 4% =64
9. 164+21 =18 +2+17

(b) bakuru bitat — 36, faagwinip — 11, kara — 12.

A 108 -3 -13=92
B.49-14-15=20

(c) 6 — tiimin, 22 — kiirdi na v¢ faaba, 97 — bakura birwiit na gwe gwiniy, 120 — bakara faabiba.
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Problem 2. Word order: <possessor> <possessed>.
Possessive prefixes:
possessor possessed
1st person sg n-
2nd -
ot | A body pan
P & e- otherwise

‘...of each of us’ t-
‘one’s own ...’ d-

2nd person pl ri-

Answers:

(a)

© 0N Otk W

I Y T
=W = o

15.
16.
17.

a-bang

a-tang he-ya
bataa ha-wata
de-kafi

e-bataa ha-tang
e-kuda ha-wata
falepak ha-wei
ha-tang ha-min
he-lui

maama he-falepak
na-pong

ri-éng

ri-tama

ri-ya ha-tang
tama ha-bang
ta-min

te-fe ha-wei

W —E e Fe FE P TROT 0

your (sg.) shoulder

your (sg.) thumb |‘your (sg.) hand’s mother’|
upper part of a tree |‘tree’s neck’|

one’s own rope

your (sg.) branch [‘your (sg.) tree’s hand’]
your (sg.) horse’s neck

trigger |‘pistol’s ear’|

his fingertip [‘his hand’s nose’|

his knife

father’s pistol

my face

your (pl.) eyes

your (pl.) sea

your (pl.) mother’s hand

seashore |[‘sea’s shoulder’|

our noses (the nose of each of us)

our pigs’ ears

(the ear of the pig of each of us)

(b) 1. a-min — your (sg.) nose; 2. de-ya he-bataa — one’s own mother’s tree

(c)

1. pig — fe

A R

your (pl.) knife — ri-lui

your (sg.) mother’s father — e-ya he-maama

my father’s face — ne-maama ha-pong

one’s own ear — da-wei

my sea — ne-tama
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Problem 3. Rules:
e word order:
A
-S V (O) (L) (S = subject, V = predicate, O = object, L. = place)

pg- - (S = 1st person sg)

Y O\ v
-X V L =L V X
A N
v
-N P (N = noun, P = possessive pronoun);
N

e \_4 gender and number concord —

’ singular ‘ plural ‘

mu- a-
di- ma- | (before a vowel i- > j-, u- > w-, a- > ();
3i-

’ mu+ (place) ‘

e v \: the tone of the last syllable assimilates to the tone of the first syllable of the
following word;

e the tone of the last syllable of the last word is low in a declarative sentence and high in
an interrogative one.

Answers:

(a) 12. mualézi mwamoéna zitéténbwa

Did the sorcerer see the stars?

13. zitéténbwa zjala mudjalu
There are stars in the sky. = (4)

14. pgakina
I danced.

15. djala djaména mahénzo mulwanda
Did the man see the bananas in Luanda?

(b) 16. Did I sing?
pgafika
17.  The person met the sorcerer and the friend in the square.
mutu mwasagga malézi ni dikdmba mukitanda
18. My man (husband) saw the cave.
djala djami djamoéna dikupgu
19. There are sorcerers in Luanda.

r_rr

mulwanda mwala alézi; alézi 4la mulwanda
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Problem 4. Word order: [[<class>| <species>| [<numeral> <class>].
The direction of writing is from left to right. One syllable = two characters:

C(C)-

-V(V)(C)

@ b, & bl, O ¢, UP hn, 68 k, © Kkr, 9 1,
mp,&pl,mpr,gt,ﬁtr

A aI, e azk, it aj, =4 at, A aw, it oI,
Jo €1, el ie, % iet, 7 jot, By oz, ¢ uan,

) uat, Ah

Answers:

3 — G @ o — taw be: to see the raft

6 —>5\ Y Bl O b1 < | —plaj priet pe: plaj« three bananas

7 Vr A 6 8 — hna: traw to: <« siz rhinoceros

8 Rl — puan lah «+ four hands of bananas

9 b7 o 49 A — pe: la: — —  three leaves <+
10| — O @\ﬁm A — cie pah la: seven sheets of paper
11 o N OB — la: plo: — aubergine/eggplant leaf
12 —plaj plo: boir plaj+ | two aubergines/eggplants
15 la: priot traw la: — stz banana leaves <
16 | — 6% B WG B — ko:r bo:r to: two doves
19 @ G A ba:r ka: —  two fish <+
20 ANV — puan pla: <+ four blades
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Problem 5.
...................... singular
vut- people
1. number: 1- V- { ven- otherwise } plural
b'¢:1 1 LN ‘many’
Ur ot dual

(V = the vowel in the following syllable);
2. pat- ‘big’;
3. bung- ‘group’, kon- ‘part’.
Rules:
e before another prefix le-ven- > len-

before p -n > m
[ ]
before k -n > ng

-p, p- >V
e between two vowels -t, t- >r
-k, k- > x.

Answers:

(a) lavatbungmenemen — big group of villages

(b) laradi — man

lavatkonuna — big branch
laxantoonan — many spirits
levengkatli — eyes

loxot — place

lubungkavus — group of white men

A T o

luvaroos — two big vines

*®

(c) heart — leveve

9. gardens — leventaamang
10. many things — laxampanga
11. grandchildren — luvuttubuno
12. two parts of day — luxonaleng
13. branches — lengkonuna

14. big branches — lempatkonuna



